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QUESTION 1

Push the Exhibit Button to load the referenced "testml.xsd".

[testml. x3d]
<¥3:i=chema
xmlns:xs="http://wrw.wd.org/ 2001/ IML3chema >
LHElelement name="IestiL" CLYpESTLeEdtmlliype™ />
<xs:icomplexType aame="testmlType'>
<H3:3equence:
<xa:element —ef="perason”
maxXlcours="unbounded"™ />
<fxs:i1s3equencex
</®s:icomplexTyper

<xzielement name="person’ type="peraonType’™ o
<xs:complexType aame="personType":=
<X3:Seqguences
<xa:elewment sef="name" />
<us:element zef="phone"™ />
</ %31 8equence>
</wa:complexTyper

<ys:element name="name" type="xs:string"™ />
f<xz:ielement name="phone" type="xs:scring™ S
</ws:ischemasr

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document (“testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalocation attribute.
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[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
£X3:SequEnce:>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone" cype="
</ xa:achemas

¥s3:scring™ />
£ S <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
<uziredefine schemalocation="testml.xsd":>

<xz:complexType hawe="personType’>
<¥SicomplexContent>

fxZiextension base="personType">r
<¥8: SEqUENCE:
= I

<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<ws:element name="cellPhone”™ type="

xs:string"”™ />
</ xaischenar

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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QUESTION 2

Which of the following correctly describes the results of normalizing the following XML Document rec element by
Exclusive XML Canonicalization?

[ZML Document]

<arroot ¥mlns:a="uarn:¥mwlmaster:ia's>

<h:rec xmlns:b="urn:=mlmaster:2">
<h:field />

</hirecs

<fairoots

Correct Answer: B

QUESTION 3

Under the SAX specification, which of the following is a method for determining whether to validate a document with the
SAX parser?

A. Use the getFeature method of XMLReader interface to look up the feature value under the name
"http://xml.org/sax/features/validation”

B. Use the parse method of XMLReader interface to investigate whether an error occurs
C. Use the parseWithValidating method of XMLReader interface
D. Use the isValidatingParser method of XMLReader interface

Correct Answer: A

QUESTION 4
Which of the following text strings is not output to the results document when performing an XSLT transformation on the

following "XML Document” using the "XSLT Style Sheet" below? Note that the XSLT processor can output
transformation results as a document.
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[ZML Document]
<doc N3l:titcle="Title™ xmlns="http://www.xmlinaster.org/ exam”
xmlnz i N3l="http://wuw,. xmlaster. org, exam™>

<hbody NZl:zection="value™ xmlna=r"r:
<MN31l:content:-Content</N31:content>
</body>
</ doc

[E3LT Style Sheet]
<ztylesheet version="1.0" xmwlns="http:// wmww.wld.orgl 1999/ 5L Transform"™
xinln=::N31="http://www. xolmastcer .. orgf exem™ >
<output method="text™ />
<template match="/":>
<apply—-templates select="descendant::*/attribute: N31:% | descendant::N31:%"/ >

</template:>

<template match="+ | attrikute::*"z<value-of select="name ()" >, </ templace:
</atylesheets

A. doc

B. NSl:itle

C. body

D. NS1l:section
E. NS1l:content

Correct Answer: C

QUESTION 5

Which of the following fault codes is defined in SOAP specification 1.1? (Multiple answers possible. Select two.)
A. MustUnderstand

B. RequiredElement

C. Server

D. SyntaxError

Correct Answer: AC
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